www.atp-czesci.pl

Czesci do ekspresow

SANREMO

This catalogue is automatically generated.
Therefore, the sequence of the items might
not be always shown at best.

Updates will be issued in case of additions
and/or amendments.

Suitable universal spare parts may not be included




’;‘ﬁ‘? SANREMO

AMALFI GROUP AND WATER/STEAM TAPS

AMALFI

2 61 60 59 52 53 54 55 56 57 58

SAR0001

Positions without LF code no.: upon request




; ,;
o

SANREMO

Position LF code no. Description

27 1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
27 1120466 2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
31 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
31 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
32 5075049 SOLENOID VALVE PARKER 3 WAYS 110/120V 9W
37 1786208 O-RING 02062 GREEN VITON
38 1250019 SPRING @ 12x16.5 mm
39 1186988 STEAM TAP JOINT BUSHING
40 1186805 O-RING 0115 EPDM
41 5060158 NUT g 3/8"F FOR WATER STEAM PIPE
44 5030025 BURN PREVENTING RUBBERP.F/PIPE @ 10 mm
48 3243139 O-RING 02025 EPDM
49 1449332 WATER PIPE NOZZLE
50 1549042 COMPLETE CHROME-PLATED WATER PIPE
52 5026362 TAP WATER/STEAM
53 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
54 1186854 O-RING EPDM R5
55 1186244 SPRING BUSHING
56 1250415 TAP SPRING @ 10x32 mm
57 1324066 WATER/STEAM TAP PIN
58 1186442 BLIND GASKET @ 12x5.8 mm SILICONE
61 1241184 STEAM/WATER TAP KNOB
62 3389013 STAINLESS STEEL PIN @ 2x12 mm
63 1241185 WATER INSERT FOR KNOB
64 1528059 WASHER FLAT LARGE M6
66 1241186 STEAM INSERT FOR KNOB
67 1549043 COMPLETE STAIN.STEEL STEAM PIPE @ 10 mm
71 1022502 DOUBLE SPOUT g 3/8"
71 1022524 DOUBLE SPOUT g 3/8"
72 1241501 FILTER HOLDER HANDLE M12
72 1241504 FILTER HOLDER HANDLE M12
74 1250002 S/STEEL FILTER LOCKING SPRING g 1.20 mm
74 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
75 1160251 1CUPFILTER 6 g
76 1160252 FILTER 2-CUP 12 g
77 1160339 BLIND FILTER @ 70x17 mm
78 1022501 SINGLE SPOUT ¢ 3/8"
78 1022550 SINGLE SPOUT ¢ 3/8"
80 5055817 ELBOW FITTING @ 1/8"F - @ 5 mm
81 1349227 "L"COUPLING @ 1/8"M- @ 6 mm
86 1786202 O-RING 03037 VITON
87 1160087 STAINLESS STEEL WATER FILTER @ 15 mm
88 3349329 NICHEL-PLATED FITTING o 1/4"M-3/8"F
90 3349330 NICHEL-PLATED FITTING @ 1/4"M-1/8"F
91 1720012 CHECK VALVE g 1/4"M-1/8"M
96 3160044 O-RING 03187 EPDM
97 1086049 SHOWER HOLDER SPRAYER
98 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
99 1081016 SHOWER SCREEN g 60 mm
99 1081116 SHOWER SCREEN g 60 mm
99 1081216 SHOWER SCREEN g 60 mm
99 1081516 SHOWER @ 60 mm

100 1186722 FILTER HOLDER GASKET @ 73x57x8 mm

100 1186723 FILTER HOLDER GASKET @ 73x57x8.5 mm

102 1186594 FLAT PTFE GASKET @ 20x17x2 mm

103 1501541 NOZZLE M6x1 HOLE @ 0,8 mm

105 1160517 WATER FILTER @ 8.5x22 mm

199 1786297 O-RING R10 EPDM




’;‘ﬁ‘? SANREMO

AMALFI BOILER AND HYDRAULIC SYSTEM

AMALFI

122 121 129 123

SARO0101

Positions without LF code no.: upon request




) SANREMO w3
GroUD,
Position LF code no. Description

19 1455065 HEATING ELEMENT 4500W 380V
19 5021939 HEATING ELEMENT 2700W 380V
20 1186179 PTFE FLAT GASKET @ 57x43x3 mm
22 1240702 MOTOR RPM WITH CLAMP CONNECTION 165W
22 1240708 RPM MOTOR WITH CLAMP CONNECT. 150W 230V
24 1330002 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
25 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
28 1455068 VOLUMETRIC FLOW METER GICAR
29 1057037 SELECTOR SWITCH 0-2 POSITIONS 20A 600V
29 5034325 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
32 1221070 ORANGE INDICATOR LIGHT 230V
34 5033187 PUMP-BOILER PRESSURE GAUGE g 60 mm
81 1349227 "L"COUPLING @ 1/8"M- @ 6 mm

107 1444509 THREE-PHASE THERMOSTAT 169°C

137 1341751 LEVEL PROBE @ 1/4"M-150 mm

138 1523534 BOILER VALVE g 1/4"M

139 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm

142 1515005 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED

154 1720013 EXPANSION VALVE g 1/8"M 12 bar




‘i‘ﬁ{? SANREMO

AMALFI BODY AND ELECTRONIC SYSTEM

AMALFI

3 161 4 158 159160 158 8 167 5

SAR0201

Positions without LF code no.: upon request




SANREMO

Position LF code no. Description
17 1527048 DRAIN TANK
18 3449466 HOSE CLAMP 16-27
26 1054057 DOSER CONTROL BOX 1-2-3 GROUPS 230V
127 1319629 PUSH-BUTTON PANEL 5 BUTTONS
130 1449672 DRAIN PIPE ELISPIR @ 16x23 mm - 5 m




c\]{
% SANREMO

CAPRI GROUP AND WATER/STEAM TAPS

CAPRI
2 61 60 59 52 53 54 55 56 57 58

R

51

62 61 60 59 52

52

37

OO

a_ 39

as\g 65 40
67

SAR0501

Positions without LF code no.: upon request




©on

SANREMO

Position LF code no. Description

27 1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
27 1120466 2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
31 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
31 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
31 5075049 SOLENOID VALVE PARKER 3 WAYS 110/120V 9W
38 1250019 SPRING @ 12x16.5 mm
39 1186988 STEAM TAP JOINT BUSHING
41 5060158 NUT ¢ 3/8"F FOR WATER STEAM PIPE
43 1549043 COMPLETE STAIN.STEEL STEAM PIPE @ 10 mm
44 1187501 BURN PREVENTING PIPE HANDGRIP @ 8 mm
49 1449332 WATER PIPE NOZZLE
50 1549042 COMPLETE CHROME-PLATED WATER PIPE
51 1548043 WATER TAP COMPLETE
52 5026362 TAP WATER/STEAM
53 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
54 1186854 O-RING EPDM R5
55 1186244 SPRING BUSHING
56 1250415 TAP SPRING @ 10x32 mm
57 1324066 WATER/STEAM TAP PIN
58 1186442 BLIND GASKET @ 12x5.8 mm SILICONE
61 1241184 STEAM/WATER TAP KNOB
62 3389013 STAINLESS STEEL PIN g 2x12 mm
63 1241185 WATER INSERT FOR KNOB
64 1528059 WASHER FLAT LARGE M6
66 1241186 STEAM INSERT FOR KNOB
67 1549043 COMPLETE STAIN.STEEL STEAM PIPE ¢ 10 mm
68 5063557 STEAM TAP COMPLETE
71 1022502 DOUBLE SPOUT g 3/8"
71 1022524 DOUBLE SPOUT g 3/8"
72 1241501 FILTER HOLDER HANDLE M12
72 1241504 FILTER HOLDER HANDLE M12
74 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
75 1160251 1 CUPFILTER 6 g
76 1160252 FILTER 2-CUP 12 g
77 1160339 BLIND FILTER @ 70x17 mm
78 1022501 SINGLE SPOUT ¢ 3/8"
78 1022550 SINGLE SPOUT ¢ 3/8"
80 5055817 ELBOW FITTING @ 1/8"F - @ 5 mm
81 1349227 "L"COUPLING @ 1/8"M- @ 6 mm
86 1786202 O-RING 03037 VITON
87 1160087 STAINLESS STEEL WATER FILTER @ 15 mm
88 3349329 NICHEL-PLATED FITTING @ 1/4"M-3/8"F
90 3349330 NICHEL-PLATED FITTING o 1/4"M-1/8"F
91 1720012 CHECK VALVE ¢ 1/4"M-1/8"M
96 3160044 O-RING 03187 EPDM
97 1086049 SHOWER HOLDER SPRAYER
98 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
99 1081016 SHOWER SCREEN g 60 mm
99 1081116 SHOWER SCREEN g 60 mm
99 1081216 SHOWER SCREEN g 60 mm
99 1081516 SHOWER @ 60 mm

100 1186722 FILTER HOLDER GASKET @ 73x57x8 mm

100 1186723 FILTER HOLDER GASKET @ 73x57x8.5 mm

102 1186594 FLAT PTFE GASKET @ 20x17x2 mm

103 1501541 NOZZLE M6x1 HOLE @ 0,8 mm

105 1160517 WATER FILTER @ 8.5x22 mm




c\]{
% SANREMO

CAPRI BOILER AND HYDRAULIC SYSTEM

CAPRI
191 134 135 182 136 181 136 183

163 141

s

150

15
15
1

146

139

1
2

118 87 151
107

ol

153 M
el i
189 1
2

5

191

122 121 123

36 34
170 109 110 111

54
>

SAR0BM

Positions without LF code no.: upon request




SANREMO

SRV

Position LF code no. Description

19 1455065 HEATING ELEMENT 4500W 380V
19 5019887 HEATING ELEMENT 2400W 380V
19 5021939 HEATING ELEMENT 2700W 380V
19 5056509 HEATING ELEMENT 1950W 230V
20 1186179 PTFE FLAT GASKET g 57x43x3 mm
22 1240708 RPM MOTOR WITH CLAMP CONNECT. 150W 230V
24 1330002 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
25 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
28 1455068 VOLUMETRIC FLOW METER GICAR
29 1057037 SELECTOR SWITCH 0-2 POSITIONS 20A 600V
29 5034325 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
32 1221070 ORANGE INDICATOR LIGHT 230V
34 5033187 PUMP-BOILER PRESSURE GAUGE @ 60 mm

107 1444509 THREE-PHASE THERMOSTAT 169°C

137 1341751 LEVEL PROBE @ 1/4"M-150 mm

137 5058690 LEVEL PROBE @ 1/4"M-120 mm

138 1523534 BOILER VALVE g 1/4"M

138 1523537 BOILER VALVE g 1/4"M

139 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm

142 1515005 BOILER VALVE @ 3/8"M - 1.8 bar CE/PED

154 1720013 EXPANSION VALVE @ 1/8"M 12 bar




SANREMO

CAPRI BODY AND ELECTRONIC SYSTEM

CAPRI

4 158

159 160 158 8

SARO701

Positions without LF code no.: upon request




SANREMO w3
Position LF code no. Description
15 1313102 FOOT 2 50 mm M10 H=55+69 mm
17 1527048 DRAIN TANK
18 3449466 HOSE CLAMP 16-27
26 1054057 DOSER CONTROL BOX 1-2-3 GROUPS 230V
26 1341301 LEVEL ADJUSTER NRL30/1E-2C/F 230V
26 5038880 DOSING CONTROL BOX 2 GROUPS 230V
26 5056960 LEVEL REGULATOR NRL30/1E-2C/F 115V
127 5031483 PUSH-BUTTON PANEL 5 BUTTONS
129 5036032 BLACK BIPOLAR SWITCH 16A 250V
130 1449672 DRAIN PIPE ELISPIR @ 16x23 mm -5 m




SANREMO

MILANO LX BODY

MILANO LX

o2

023

024 .......-.... "

222

001
010
002
003

004\

L)

009 008 007 006 005\
¢ ' \

~ 042

039

012 011
ri

%

038

037
036

SAR1001

Positions without LF code no.: upon request




SANREMO

Position LF code no. Description
13 5060610 HEXAGONAL NUT MEDIUM M3
36 1449672 DRAIN PIPE ELISPIR @ 16x23 mm -5 m
37 3449466 HOSE CLAMP 16-27




SANREMO

MILANO LX GROUPE AND WATER/STEAM TAPS

MILANO LX
052 . Y

053~ <@y 090 089 075 229 232 231 152 050 049 048 046 046 047 046 045
054 s Ay 051
055 A A
056 (% 7
057 il
063 077
082 064 ) 240
061 \‘if 085 't 068 237
060 ) g 066 069
059 1@ | 067 /081 241
s | 088 /9082
:: | 069 =1 I.' I '.I 083
? lg_ 070 )’ i | 08¢ T 1s1
g —~on £ ﬁ 085
osg  (tr—om FU L jom & 150
P ] V8 0se
~- o4 o76'\5 /. 087 032
033
098
108 099
109 100
097 101
110 102 231
i ﬁ ! 147
1 104 o 147
112 & \ @G',& 088 234", | ﬁ\
113 108 4 § / 207
114 103 o =) o NN
&N o
D o
130 s . 13 \
047 ’// \\_, © 140
132 ! = ‘l@ \\ 141
13 SO 000
I# g F 8 115 116 117 118 119 120 121 122 123 124 125 126 127 128 129
135 %ﬁ"@ 144
136 — "% /148
137 T 146
129

SAR1101

Positions without LF code no.: upon request



; ,;
o

SANREMO

Position LF code no. Description
48 1455067 VOLUMETRIC FLOW METER GICAR
50 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
51 5026362 TAP WATER/STEAM
52 1186442 BLIND GASKET g 12x5.8 mm SILICONE
53 1324066 WATER/STEAM TAP PIN
54 1250415 TAP SPRING @ 10x32 mm
55 1186244 SPRING BUSHING
56 1186854 O-RING EPDM R5
57 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
58 1449332 WATER PIPE NOZZLE
65 1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
65 1120466 2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
68 1250019 SPRING @ 12x16.5 mm
69 1186988 STEAM TAP JOINT BUSHING
71 5060158 NUT ¢ 3/8"F FOR WATER STEAM PIPE
76 1549044 COMPLETE STAIN.STEEL STEAM PIPE ¢ 10 mm
81 1786297 O-RING R10 EPDM
86 5030025 BURN PREVENTING RUBBERP.F/PIPE @ 10 mm
88 5055817 ELBOW FITTING @ 1/8"F - 2 5 mm
89 3389013 STAINLESS STEEL PIN @ 2x12 mm
93 1241184 STEAM/WATER TAP KNOB
94 1528059 WASHER FLAT LARGE M6
95 1241186 STEAM INSERT FOR KNOB
98 1439001 CAP g 16 mm FOR BREW GROUP
99 1186314 PTFE FLAT GASKET @ 22x17x2 mm
100 1160517 WATER FILTER @ 8.5x22 mm
101 1501541 NOZZLE M6x1 HOLE @ 0,8 mm
102 1027116 CHROMIUM-PLATED UPPER SLEEVE
103 1186328 PTFE FLAT GASKET @ 35x30x2 mm
104 3186183 O-RING 0128 EPDM
106 1439011 CHROMIUM-PLATED SIDE CAP
108 1184009 STAINLESS STEEL M8x25 mm STUD
110 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
110 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
110 5075049 SOLENOID VALVE PARKER 3 WAYS 110/120V 9W
111 1081016 SHOWER SCREEN g 60 mm
111 1081116 SHOWER SCREEN @ 60 mm
111 1081216 SHOWER SCREEN g 60 mm
111 1081516 SHOWER @ 60 mm
112 1186722 FILTER HOLDER GASKET g 73x57x8 mm
112 1186723 FILTER HOLDER GASKET @ 73x57x8.5 mm
114 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
117 1160252 FILTER 2-CUP 12 g
118 1241501 FILTER HOLDER HANDLE M12
118 1241504 FILTER HOLDER HANDLE M12
119 1160251 1 CUPFILTER 6 g
120 1022502 DOUBLE SPOUT g 3/8"
120 1022524 DOUBLE SPOUT g 3/8"
121 1022501 SINGLE SPOUT ¢ 3/8"
121 1022550 SINGLE SPOUT ¢ 3/8"
123 1250002 S/STEEL FILTER LOCKING SPRING g 1.20 mm
123 1250101 FILTER BLOCKING SPRING ¢ 1,00 mm INOX
124 1160339 BLIND FILTER @ 70x17 mm
125 1186384 COFFEE GROUP GASKET 80x70x2 mm
125 1186508 COFFEE GROUP GASKET 77x73x2 mm
135 5019884 SOLEN. VALVE PARKER 2 WAYS 230V 50/60Hz
139 3349329 NICHEL-PLATED FITTING o 1/4"M-3/8"F
141 1786202 O-RING 03037 VITON
146 1720012 CHECK VALVE ¢ 1/4"M-1/8"M
150 1444509 THREE-PHASE THERMOSTAT 169°C




SANREMO

MILANO LX BOILER AND HYDRAULIC SYSTEM

MILANO LX
165 A 159 158 235 157 229 231155 234 201 200
\ L) \ 199
\ C .I". )
\ ' ? : 198
\ 160 ik, -4
e ll i 453 o @ ke
e : ¥ \ il e 191
I L O Q
- !182 S A A 196
o182 Cael 2 a7 =5
4163 \ /a'
Iae ¢ i 5
s
rs
’/
078
079
09 P A
LAY {
Rt ?’g ll' 3 2 ;I
080 | L &,
Q I F & 4
175 e’ 1 & -~
G
N
\105
092 P
176 LT @ /
v /'f 1 p
/// @ // v F :” \"\“ % : Y \\
155 g it ( j ] )
18— T 107 178 180 064 078 182 183 184 061 185 188 147 157

SAR1201

Positions without LF code no.: upon request




SANREMO w3
GroUD,
Position LF code no. Description
149 1221070 ORANGE INDICATOR LIGHT 230V
155 1349227 "L"COUPLING @ 1/8"M- @ 6 mm
156 1186179 PTFE FLAT GASKET @ 57x43x3 mm
158 1455065 HEATING ELEMENT 4500W 380V
158 1455066 HEATING ELEMENT 5100W 380V
158 5021939 HEATING ELEMENT 2700W 380V
158 5056509 HEATING ELEMENT 1950W 230V
165 1439059 CAP @ 1/4"M NUT 17 mm H12
166 1186404 PTFE FLAT GASKET @ 18x13x2 mm
167 1201056 SPACER FOR LEVEL GLASS
168 1186318 O-RING 03043 EPDM
170 1201057 FITTING @ 3/8"M HOLE @ 11 mm
172 1520100 LEVEL GAUGE GLASS @ 11x140 mm
176 1057037 SELECTOR SWITCH 0-2 POSITIONS 20A 600V
176 5034325 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
178 5056570 PUMP-BOILER PRESSURE GAUGE g 60 mm
183 1240702 MOTOR RPM WITH CLAMP CONNECTION 165W
183 1240708 RPM MOTOR WITH CLAMP CONNECT. 150W 230V
186 1330002 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
191 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm
198 1523534 BOILER VALVE @ 1/4"M
199 1523059 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED
201 1341751 LEVEL PROBE @ 1/4"M-150 mm
205 1720013 EXPANSION VALVE ¢ 1/8"M 12 bar




c\]{
% SANREMO

MILANO LX PUSH-BUTTONS

MILANO LX

040~

21—

SAR1301

Positions without LF code no.: upon request




SANREMO

Position LF code no. Description
217 5032976 ELECTRONIC CIRCUIT BOARD 6-BUTTONS PANEL
219 5036032 BLACK BIPOLAR SWITCH 16A 250V
221 1054057 DOSER CONTROL BOX 1-2-3 GROUPS 230V




o
=
LU
oc
=Z
<
n

PISA BODY

PISA

007 006 005 004

8

00

SAR2001

Positions without LF code no.: upon request



SANREMO

Position LF code no. Description
25 5060610 HEXAGONAL NUT MEDIUM M3
29 1313102 FOOT 2 50 mm M10 H=55+69 mm
30 1527048 DRAIN TANK
31 1449672 DRAIN PIPE ELISPIR g 16x23 mm - 5 m

32 3449466 HOSE CLAMP 16-27




o
=
LU
oc
=Z
<
n

PISA GROUPE AND WATER/STEAM TAPS

PISA
4

SAR2101

Positions without LF code no.: upon request



SANREMO

©on

Position LF code no. Description
45 1444509 THREE-PHASE THERMOSTAT 169°C
46 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
49 1186442 BLIND GASKET @ 12x5.8 mm SILICONE
50 1324066 WATER/STEAM TAP PIN
51 1250415 TAP SPRING @ 10x32 mm
52 1186244 SPRING BUSHING
53 1186854 O-RING EPDM R5
54 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
55 5026362 TAP WATER/STEAM
58 1786208 O-RING 02062 GREEN VITON
59 1250019 SPRING @ 12x16.5 mm
60 1186988 STEAM TAP JOINT BUSHING
61 1549042 COMPLETE CHROME-PLATED WATER PIPE
62 1241184 STEAM/WATER TAP KNOB
63 1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
63 1120466 2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
66 1449332 WATER PIPE NOZZLE
68 1548043 WATER TAP COMPLETE
70 3389013 STAINLESS STEEL PIN @ 2x12 mm
73 1186805 O-RING 0115 EPDM
74 5060158 NUT ¢ 3/8"F FOR WATER STEAM PIPE
77 5030025 BURN PREVENTING RUBBERP.F/PIPE g 10 mm
81 1528059 WASHER FLAT LARGE M6
82 1241186 STEAM INSERT FOR KNOB
84 1241185 WATER INSERT FOR KNOB
93 1786297 O-RING R10 EPDM
95 1160087 STAINLESS STEEL WATER FILTER @ 15 mm
97 3349330 NICHEL-PLATED FITTING @ 1/4"M-1/8"F
103 1720012 CHECK VALVE ¢ 1/4"M-1/8"M
109 1786202 O-RING 03037 VITON
110 3349329 NICHEL-PLATED FITTING @ 1/4"M-3/8"F
114 5055817 ELBOW FITTING @ 1/8"F - @ 5 mm
115 1160252 FILTER 2-CUP 12 g
120 1250002 S/STEEL FILTER LOCKING SPRING g 1.20 mm
120 1250101 FILTER BLOCKING SPRING ¢ 1,00 mm INOX
121 1160251 1CUPFILTER 6 g
123 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
123 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
123 5075049 SOLENOID VALVE PARKER 3 WAYS 110/120V 9W
126 3160044 O-RING 03187 EPDM
127 1086049 SHOWER HOLDER SPRAYER
128 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
129 1081016 SHOWER SCREEN g 60 mm
129 1081116 SHOWER SCREEN g 60 mm
129 1081216 SHOWER SCREEN g 60 mm
129 1081516 SHOWER @ 60 mm
130 1186722 FILTER HOLDER GASKET @ 73x57x8 mm
130 1186723 FILTER HOLDER GASKET g 73x57x8.5 mm
132 1160517 WATER FILTER @ 8.5x22 mm
135 1501541 NOZZLE M6x1 HOLE g 0,8 mm
136 1186594 FLAT PTFE GASKET @ 20x17x2 mm
142 1455068 VOLUMETRIC FLOW METER GICAR

143 1160339 BLIND FILTER @ 70x17 mm




‘J\; L0
% SANREMO

PISA BOILER AND HYDRAULIC SYSTEM

PISA

SAR2201

Positions without LF code no.: upon request




SANREMO w3
GroUD,
Position LF code no. Description
150 1455065 HEATING ELEMENT 4500W 380V
150 1455066 HEATING ELEMENT 5100W 380V
150 5021939 HEATING ELEMENT 2700W 380V
151 1240702 MOTOR RPM WITH CLAMP CONNECTION 165W
151 1240708 RPM MOTOR WITH CLAMP CONNECT. 150W 230V
152 1330002 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
166 1221070 ORANGE INDICATOR LIGHT 230V
168 1057037 SELECTOR SWITCH 0-2 POSITIONS 20A 600V
168 5034325 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
183 1720013 EXPANSION VALVE g 1/8"M 12 bar
191 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm
197 1439059 CAP g 1/4"M NUT 17 mm H12
198 1186318 O-RING 03043 EPDM
200 1201057 FITTING @ 3/8"M HOLE @ 11 mm
201 1520100 LEVEL GAUGE GLASS @ 11x140 mm
202 1186404 PTFE FLAT GASKET @ 18x13x2 mm
211 1201056 SPACER FOR LEVEL GLASS
218 1523534 BOILER VALVE g 1/4"M
219 1515005 BOILER VALVE @ 3/8"M - 1.8 bar CE/PED
221 1186179 PTFE FLAT GASKET @ 57x43x3 mm
223 1341751 LEVEL PROBE @ 1/4"M-150 mm




% SANREMO

PISA PUSH-BUTTONS

PISA

SAR2301

Positions without LF code no.: upon request




FoUR,

SANREMO

Position

LF code no.

Description

230

5036032

BLACK BIPOLAR SWITCH 16A 250V




’;‘ﬁ‘? SANREMO

TORINO BODY

TORINO

SAR3001

Positions without LF code no.: upon request




SANREMO

Position LF code no. Description
30 1527048 DRAIN TANK
31 1449672 DRAIN PIPE ELISPIR @ 16x23 mm -5 m
32 3449466 HOSE CLAMP 16-27




%3 SANREMO

TORINO GROUPE AND WATER/STEAM TAPS

TORINO

[~

SAR3101

Positions without LF code no.: upon request




977 ¢

4 ar% b — @
SANREMO 4
Position LF code no. Description
45 1444509 THREE-PHASE THERMOSTAT 169°C
46 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
49 1186442 BLIND GASKET @ 12x5.8 mm SILICONE
50 1324066 WATER/STEAM TAP PIN
51 1250415 TAP SPRING @ 10x32 mm
52 1186244 SPRING BUSHING
53 1186854 O-RING EPDM R5
54 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
55 5026362 TAP WATER/STEAM
58 1786208 O-RING 02062 GREEN VITON
59 1250019 SPRING @ 12x16.5 mm
60 1186988 STEAM TAP JOINT BUSHING
65 3243139 O-RING 02025 EPDM
66 1449332 WATER PIPE NOZZLE
70 3389013 STAINLESS STEEL PIN g 2x12 mm
73 1186805 O-RING 0115 EPDM
74 5060158 NUT @ 3/8"F FOR WATER STEAM PIPE
77 5030025 BURN PREVENTING RUBBERP.F/PIPE g 10 mm
81 1528059 WASHER FLAT LARGE M6
83 1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
83 1120466 2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
88 1786297 O-RING R10 EPDM
98 1439001 CAP g 16 mm FOR BREW GROUP
99 1186314 PTFE FLAT GASKET @ 22x17x2 mm
100 1160517 WATER FILTER @ 8.5x22 mm
101 1501541 NOZZLE M6x1 HOLE @ 0,8 mm
102 1027116 CHROMIUM-PLATED UPPER SLEEVE
103 1186328 PTFE FLAT GASKET @ 35x30x2 mm
104 3186183 O-RING 0128 EPDM
106 1439011 CHROMIUM-PLATED SIDE CAP
107 1184009 STAINLESS STEEL M8x25 mm STUD
109 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
109 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
109 5075049 SOLENOID VALVE PARKER 3 WAYS 110/120V 9W
110 1081016 SHOWER SCREEN g 60 mm
110 1081116 SHOWER SCREEN g 60 mm
110 1081216 SHOWER SCREEN g 60 mm
110 1081516 SHOWER @ 60 mm
111 1186722 FILTER HOLDER GASKET g 73x57x8 mm
111 1186723 FILTER HOLDER GASKET g 73x57x8.5 mm
115 1160252 FILTER 2-CUP 12 g
119 1165134 FILTER HOLDER FOR SANREMO/SCALA COFFEE M
120 1250333 SPRING FILTER BLOCK @ 1.30 mm ST.STEEL
121 1160257 1-CUP FILTER 6 g
123 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
128 1186384 COFFEE GROUP GASKET 80x70x2 mm
128 1186508 COFFEE GROUP GASKET 77x73x2 mm
142 1455068 VOLUMETRIC FLOW METER GICAR
143 1160339 BLIND FILTER @ 70x17 mm
147 1349227 "L"COUPLING @ 1/8"M- @ 6 mm




%3 SANREMO

TORINO MOTORS AND LEVEL GAUGE

TORINO

SAR3201

Positions without LF code no.: upon request




) SANREMO w3
GroUD,
Position LF code no. Description
151 1240702 MOTOR RPM WITH CLAMP CONNECTION 165W
151 1240708 RPM MOTOR WITH CLAMP CONNECT. 150W 230V
152 1330002 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
154 1449218 HOSE FLEX g 3/8" Fc x Fc 2000 mm
157 3068097 CAPACITOR ELECTRICAL 6.3uF
160 1441001 TELETHERMOMETER BLACK @ 52 mm 0-80°C
161 1245077 PUMP PRESSURE GAUGE @ 41 mm 0+16 bar
163 1245076 BOILER PRESSURE GAUGE @ 41 mm 0+2.5 bar
166 1221070 ORANGE INDICATOR LIGHT 230V
168 1057037 SELECTOR SWITCH 0-2 POSITIONS 20A 600V
168 5034325 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
197 1439059 CAP g 1/4"M NUT 17 mm H12
198 1186318 O-RING 03043 EPDM
200 1201057 FITTING @ 3/8"M HOLE @ 11 mm
201 1520100 LEVEL GAUGE GLASS @ 11x140 mm
202 1186404 PTFE FLAT GASKET @ 18x13x2 mm

211

1201056

SPACER FOR LEVEL GLASS




O
=
LI
oc
=
<
7y

TORINO BOILER AND HYDRAULIC SYSTEM

TORINO

303

304

SAR3301

Positions without LF code no.: upon request



SANREMO w3

Position LF code no. Description

150 1455065 HEATING ELEMENT 4500W 380V

150 1455066 HEATING ELEMENT 5100W 380V

150 5021939 HEATING ELEMENT 2700W 380V

186 5060072 GROUP GASKET g 52x46x3 mm

191 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm

218 1523534 BOILER VALVE g 1/4"M

219 1515005 BOILER VALVE g 3/8"M - 1.8 bar CE/PED

221 1186179 PTFE FLAT GASKET @ 57x43x3 mm

223 1341751 LEVEL PROBE @ 1/4"M-150 mm

223 5058690 LEVEL PROBE @ 1/4"M-120 mm




O
=
LI
oc
=
<
7y

TORINO PUSH-BUTTONS

TORINO

023 024 013 ?
-2

SAR3401

Positions without LF code no.: upon request



SANREMO

Position LF code no. Description
25 5060610 HEXAGONAL NUT MEDIUM M3
166 1221070 ORANGE INDICATOR LIGHT 230V
228 1054057 DOSER CONTROL BOX 1-2-3 GROUPS 230V
229 5074250




(\n‘ 0
% SANREMO

TREVISO COMPLETE EXPLODED DRAWING

79 62 86

II'_ f{_ B

|/:

95

SAR4001

Positions without LF code no.: upon request




Py

SANREMO w3
GroUD,
Position LF code no. Description
9 1187501 BURN PREVENTING PIPE HANDGRIP @ 8 mm
20 1186623 PTFE FLAT GASKET @ 53x43x3 mm
24 1720013 EXPANSION VALVE g 1/8"M 12 bar
30 1523534 BOILER VALVE g 1/4"M
31 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm
34 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
35 1081016 SHOWER SCREEN @ 60 mm
35 1081116 SHOWER SCREEN g 60 mm
35 1081216 SHOWER SCREEN @ 60 mm
35 1081516 SHOWER @ 60 mm
36 1186722 FILTER HOLDER GASKET @ 73x57x8 mm
38 1186384 COFFEE GROUP GASKET 80x70x2 mm
38 1186508 COFFEE GROUP GASKET 77x73x2 mm
39 1184009 STAINLESS STEEL M8x25 mm STUD
67 1319631 LEVER BIPOLAR SWITCH 15A 250V
92 1720014 EXPANSION VALVE o 1/8"F-1/8"F
104 1786202 O-RING 03037 VITON
108 3160044 O-RING 03187 EPDM
114 1160339 BLIND FILTER @ 70x17 mm
115 1160252 FILTER 2-CUP 12 g
116 1160251 1 CUPFILTER 6 g
117 1250333 SPRING FILTER BLOCK @ 1.30 mm ST.STEEL
119 1022501 SINGLE SPOUT g 3/8"
122 1449332 WATER PIPE NOZZLE
125 1186723 FILTER HOLDER GASKET @ 73x57x8.5 mm
137 1515005 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED




Q;g& SANREMO

TREVISO LX COMPLETE EXPLODED DRAWING

TREVISO LX
110 56
108 109&5 @
el 111
OO & s

Positions without LF code no.: upon request




Py

SANREMO w3
GroUD,
Position LF code no. Description
9 1187501 BURN PREVENTING PIPE HANDGRIP @ 8 mm
22 1186623 PTFE FLAT GASKET @ 53x43x3 mm
26 1720013 EXPANSION VALVE g 1/8"M 12 bar
35 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
36 1081016 SHOWER SCREEN @ 60 mm
36 1081116 SHOWER SCREEN g 60 mm
36 1081216 SHOWER SCREEN @ 60 mm
36 1081516 SHOWER @ 60 mm
37 1186722 FILTER HOLDER GASKET @ 73x57x8 mm
38 1186384 COFFEE GROUP GASKET 80x70x2 mm
38 1186508 COFFEE GROUP GASKET 77x73x2 mm
39 1184009 STAINLESS STEEL M8x25 mm STUD
59 1319631 LEVER BIPOLAR SWITCH 15A 250V
83 1449218 HOSE FLEX g 3/8" Fc x Fc 2000 mm
87 1720014 EXPANSION VALVE ¢ 1/8"F-1/8"F
100 1449332 WATER PIPE NOZZLE
101 3160044 O-RING 03187 EPDM
107 1186723 FILTER HOLDER GASKET g 73x57x8.5 mm
108 1160339 BLIND FILTER @ 70x17 mm
109 1160252 FILTER 2-CUP 12 g
110 1160251 1 CUPFILTER 6 g
111 1250333 SPRING FILTER BLOCK @ 1.30 mm ST.STEEL
113 1022501 SINGLE SPOUT g 3/8"
123 1515005 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED
125 1523534 BOILER VALVE g 1/4"M
126 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm
127 5059572 PRESSURE SWITCH XP700 C111P 1.8 BAR 1/4"




% SANREMO

VENEZIA BODY

VENEZIA 4
1 04

002

003

008 033 007 006 005 Q04

o

SAR5001

Positions without LF code no.: upon request




SANREMO

Position LF code no. Description
25 5060610 HEXAGONAL NUT MEDIUM M3
31 1449672 DRAIN PIPE ELISPIR @ 16x23 mm -5 m
32 3449466 HOSE CLAMP 16-27




% SANREMO

VENEZIA GROUP AND WATER/STEAM TAPS

VENEZIA
049

1

108 122 113 114 115 116 121 117 118

SAR5101

Positions without LF code no.: upon request




SANREMO %&a
@
Position LF code no. Description
45 1444509 THREE-PHASE THERMOSTAT 169°C
46 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
49 1186442 BLIND GASKET @ 12x5.8 mm SILICONE
50 1324066 WATER/STEAM TAP PIN
51 1250415 TAP SPRING @ 10x32 mm
52 1186244 SPRING BUSHING
53 1186854 O-RING EPDM R5
54 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
55 5026362 TAP WATER/STEAM
59 1250019 SPRING @ 12x16.5 mm
60 1186988 STEAM TAP JOINT BUSHING
61 1549042 COMPLETE CHROME-PLATED WATER PIPE
62 1241184 STEAM/WATER TAP KNOB
63 5019884 SOLEN. VALVE PARKER 2 WAYS 230V 50/60Hz
66 1449332 WATER PIPE NOZZLE
68 1548043 WATER TAP COMPLETE
74 5060158 NUT @ 3/8"F FOR WATER STEAM PIPE
77 1187501 BURN PREVENTING PIPE HANDGRIP g 8 mm
81 1528059 WASHER FLAT LARGE M6
103 1720012 CHECK VALVE g 1/4"M-1/8"M
109 1786202 O-RING 03037 VITON
110 3349329 NICHEL-PLATED FITTING @ 1/4"M-3/8"F
115 1160252 FILTER 2-CUP 12 g
116 1241501 FILTER HOLDER HANDLE M12
116 1241504 FILTER HOLDER HANDLE M12
117 1022502 DOUBLE SPOUT ¢ 3/8"
117 1022524 DOUBLE SPOUT g 3/8"
118 1022501 SINGLE SPOUT ¢ 3/8"
118 1022550 SINGLE SPOUT ¢ 3/8"
120 1250002 S/STEEL FILTER LOCKING SPRING g 1.20 mm
120 1250101 FILTER BLOCKING SPRING @ 1,00 mm INOX
121 1160251 1 CUPFILTER 6 g
123 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
123 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
123 5075049 SOLENOID VALVE PARKER 3 WAYS 110/120V 9W
126 1786051 GASKET FILTER HOLDER @ 73x57x8 mm
127 3160044 O-RING 03187 EPDM
128 1086595 SHOWER HOLDER DIFFUSER
129 1081006 SHOWER SCREEN g 51.5 mm
132 1160517 WATER FILTER @ 8.5x22 mm
135 1501541 NOZZLE M6x1 HOLE @ 0,8 mm
136 1186594 FLAT PTFE GASKET @ 20x17x2 mm
143 1160339 BLIND FILTER @ 70x17 mm




%; SANREMO

VENEZIA BOILER AND HYDRAULIC SYSTEM

VENEZIA

SAR5201

Positions without LF code no.: upon request




SRV

SANREMO

Position LF code no. Description
150 1455065 HEATING ELEMENT 4500W 380V
150 1455066 HEATING ELEMENT 5100W 380V
150 5021939 HEATING ELEMENT 2700W 380V
150 5056509 HEATING ELEMENT 1950W 230V
151 1240702 MOTOR RPM WITH CLAMP CONNECTION 165W
151 1240708 RPM MOTOR WITH CLAMP CONNECT. 150W 230V
152 1330102 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
163 5056570 PUMP-BOILER PRESSURE GAUGE g 60 mm
166 1221070 ORANGE INDICATOR LIGHT 230V
168 1057037 SELECTOR SWITCH 0-2 POSITIONS 20A 600V
168 5034325 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
183 1720013 EXPANSION VALVE @ 1/8"M 12 bar
191 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm
197 1439059 CAP @ 1/4"M NUT 17 mm H12
198 1186318 O-RING 03043 EPDM
201 1520100 LEVEL GAUGE GLASS g 11x140 mm
202 1186404 PTFE FLAT GASKET g 18x13x2 mm
211 1201056 SPACER FOR LEVEL GLASS
218 1523534 BOILER VALVE @ 1/4"M
218 1523537 BOILER VALVE @ 1/4"M
219 1523059 BOILER VALVE @ 3/8"M - 1.8 bar CE/PED
221 1186179 PTFE FLAT GASKET g 57x43x3 mm
223 5058690 LEVEL PROBE @ 1/4"M-120 mm




%3 SANREMO

VENEZIA PUSH-BUTTONS

VENEZIA

SARS5301

Positions without LF code no.: upon request




SANREMO

Position LF code no. Description
25 5060610 HEXAGONAL NUT MEDIUM M3
228 1341301 LEVEL ADJUSTER NRL30/1E-2C/F 230V
228 5056960 LEVEL REGULATOR NRL30/1E-2C/F 115V
240 5036032 BLACK BIPOLAR SWITCH 16A 250V




ﬁ:‘ﬁ(} SANREMO

VERONA BOBY

VERONA

029 030

SARG001

Positions without LF code no.: upon request




SANREMO

Position LF code no. Description
29 1313102 FOOT 2 50 mm M10 H=55+69 mm
30 1527048 DRAIN TANK
31 1449672 DRAIN PIPE ELISPIR @ 16x23 mm - 5 m
32 3449466 HOSE CLAMP 16-27




% SANREMO

VERONA GROUP AND WATER/STEAM TAPS

VERONA
o9

058 -2 057
0 oss

SARG101

Positions without LF code no.: upon request




977 ¢

4 ar% b — @
SANREMO 4
Position LF code no. Description
45 1444509 THREE-PHASE THERMOSTAT 169°C
46 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
49 1186442 BLIND GASKET @ 12x5.8 mm SILICONE
50 1324066 WATER/STEAM TAP PIN
51 1250415 TAP SPRING @ 10x32 mm
52 1186244 SPRING BUSHING
53 1186854 O-RING EPDM R5
54 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
55 5026362 TAP WATER/STEAM
58 1786208 O-RING 02062 GREEN VITON
59 1250019 SPRING @ 12x16.5 mm
60 1186988 STEAM TAP JOINT BUSHING
66 1449332 WATER PIPE NOZZLE
70 3389013 STAINLESS STEEL PIN g 2x12 mm
72 1549044 COMPLETE STAIN.STEEL STEAM PIPE @ 10 mm
73 1186805 O-RING 0115 EPDM
74 5060158 NUT @ 3/8"F FOR WATER STEAM PIPE
77 5030025 BURN PREVENTING RUBBERP.F/PIPE g 10 mm
81 1528059 WASHER FLAT LARGE M6
83 1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
83 1120466 2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
88 1786297 O-RING R10 EPDM
98 1439001 CAP g 16 mm FOR BREW GROUP
99 1186314 PTFE FLAT GASKET @ 22x17x2 mm
100 1160517 WATER FILTER @ 8.5x22 mm
101 1501541 NOZZLE M6x1 HOLE @ 0,8 mm
102 1027116 CHROMIUM-PLATED UPPER SLEEVE
103 1186328 PTFE FLAT GASKET @ 35x30x2 mm
104 3186183 O-RING 0128 EPDM
106 1439011 CHROMIUM-PLATED SIDE CAP
107 1184009 STAINLESS STEEL M8x25 mm STUD
109 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
109 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
109 5075049 SOLENOID VALVE PARKER 3 WAYS 110/120V 9W
110 1081016 SHOWER SCREEN g 60 mm
110 1081116 SHOWER SCREEN g 60 mm
110 1081216 SHOWER SCREEN g 60 mm
110 1081516 SHOWER @ 60 mm
111 1186722 FILTER HOLDER GASKET g 73x57x8 mm
111 1186723 FILTER HOLDER GASKET g 73x57x8.5 mm
115 1160252 FILTER 2-CUP 12 g
119 1165134 FILTER HOLDER FOR SANREMO/SCALA COFFEE M
120 1250333 SPRING FILTER BLOCK @ 1.30 mm ST.STEEL
121 1160257 1-CUP FILTER 6 g
123 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
128 1186384 COFFEE GROUP GASKET 80x70x2 mm
128 1186508 COFFEE GROUP GASKET 77x73x2 mm
142 1455068 VOLUMETRIC FLOW METER GICAR
143 1160339 BLIND FILTER @ 70x17 mm
147 1349227 "L"COUPLING @ 1/8"M- @ 6 mm
292 1186080 STEAM PIPE CLIP ¢ 10 mm




% SANREMO

VERONA MOTOR AND LEVEL GAUGE

VERONA
197

196

SAR6201

Positions without LF code no.: upon request




) SANREMO w3
GroUD,
Position LF code no. Description
151 1240702 MOTOR RPM WITH CLAMP CONNECTION 165W
151 1240708 RPM MOTOR WITH CLAMP CONNECT. 150W 230V
152 1330002 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
166 1221070 ORANGE INDICATOR LIGHT 230V
168 1057037 SELECTOR SWITCH 0-2 POSITIONS 20A 600V
168 5034325 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
197 1439059 CAP g 1/4"M NUT 17 mm H12
198 1186318 O-RING 03043 EPDM
200 1201057 FITTING @ 3/8"M HOLE @ 11 mm
201 1520100 LEVEL GAUGE GLASS @ 11x140 mm
202 1186404 PTFE FLAT GASKET @ 18x13x2 mm
211 1201056 SPACER FOR LEVEL GLASS




@k SANREMO

VERONA BOILER AND HYDRAULIC SYSTEM

VERONA

SAR6301

Positions without LF code no.: upon request




) SANREMO w3
GroUD,
Position LF code no. Description
46 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
147 1349227 "L"COUPLING @ 1/8"M- @ 6 mm
150 1455065 HEATING ELEMENT 4500W 380V
150 1455066 HEATING ELEMENT 5100W 380V
150 5021939 HEATING ELEMENT 2700W 380V
191 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm
199 3349330 NICHEL-PLATED FITTING o 1/4"M-1/8"F
218 1523534 BOILER VALVE g 1/4"M
219 1515005 BOILER VALVE @ 3/8"M - 1.8 bar CE/PED
220 5058690 LEVEL PROBE @ 1/4"M-120 mm
221 1186179 PTFE FLAT GASKET @ 57x43x3 mm
223 1341751 LEVEL PROBE @ 1/4"M-150 mm




%¢'E; SANREMO

VERONA PUSH-BUTTONS

VERONA

238 ;] |
/
232 233/

SARG401

Positions without LF code no.: upon request




SANREMO

Position LF code no. Description
25 5060610 HEXAGONAL NUT MEDIUM M3
166 1221070 ORANGE INDICATOR LIGHT 230V




ﬁ:‘ﬁ(} SANREMO

ZOE GROUP AND WATER/STEAM TAPS

ZOE 62 61 60 59 52 53 54 55 56 57 58

SAR7001

Positions without LF code no.: upon request




SANREMO i,&a
@
Position LF code no. Description
31 1120101 3-WAY SOLENOID VALVE PARKER 115V 50/60Hz
31 1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz
31 5075049 SOLENOID VALVE PARKER 3 WAYS 110/120V 9W
37 1786208 O-RING 02062 GREEN VITON
38 1250019 SPRING @ 12x16.5 mm
39 1186988 STEAM TAP JOINT BUSHING
40 1786297 O-RING R10 EPDM
44 5030025 BURN PREVENTING RUBBERP.F/PIPE g 10 mm
49 1449332 WATER PIPE NOZZLE
52 5026362 TAP WATER/STEAM
53 1186620 COPPER FLAT GASKET @ 22x17x1.5 mm
54 1186854 O-RING EPDM R5
55 1186244 SPRING BUSHING
56 1250415 TAP SPRING @ 10x32 mm
57 1324066 WATER/STEAM TAP PIN
58 1186442 BLIND GASKET @ 12x5.8 mm SILICONE
62 3389013 STAINLESS STEEL PIN g 2x12 mm
64 1528059 WASHER FLAT LARGE M6
66 1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz
66 1120466 2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
73 1165134 FILTER HOLDER FOR SANREMO/SCALA COFFEE M
74 1250333 SPRING FILTER BLOCK @ 1.30 mm ST.STEEL
75 1160251 1 CUPFILTER 6 g
76 1160252 FILTER 2-CUP 12 g
77 1160339 BLIND FILTER @ 70x17 mm
80 5055817 ELBOW FITTING @ 1/8"F - 8 5 mm
96 3160044 O-RING 03187 EPDM
97 1086049 SHOWER HOLDER SPRAYER
98 1501561 GROUP SPRAY NOZZLE @ 30 mm M10x1
99 1081116 SHOWER SCREEN g 60 mm
100 1186722 FILTER HOLDER GASKET @ 73x57x8 mm
100 1186723 FILTER HOLDER GASKET g 73x57x8.5 mm
102 1186594 FLAT PTFE GASKET @ 20x17x2 mm
103 1501541 NOZZLE M6x1 HOLE g 0,8 mm
105 1160517 WATER FILTER @ 8.5x22 mm




%@ SANREMO

ZOE BOILER AND HYDRAULIC SYSTEM

ZOE 191 134 135 182 181 136 183

189 153 187 151

119 85 87 86

157

201

2 112 185 115 117118 11 59 P8 951 122 24 200

SAR7101

Positions without LF code no.: upon request




SANREMO

SRV

Position LF code no. Description

19 1455065 HEATING ELEMENT 4500W 380V
19 1455066 HEATING ELEMENT 5100W 380V
19 5019887 HEATING ELEMENT 2400W 380V
19 5021939 HEATING ELEMENT 2700W 380V
19 5056509 HEATING ELEMENT 1950W 230V
20 1186179 PTFE FLAT GASKET @ 57x43x3 mm
22 1240702 MOTOR RPM WITH CLAMP CONNECTION 165W
22 1240708 RPM MOTOR WITH CLAMP CONNECT. 150W 230V
24 1330002 ROTARY VANE PUMP ROTOFLOW g 3/8" NPT
25 1320531 PRESSURE SWITCH P302/6 3-POLES 30A
28 1455068 VOLUMETRIC FLOW METER GICAR
29 1057037 SELECTOR SWITCH 0-2 POSITIONS 20A 600V
29 5034325 SELECTOR SWITCH 0-2 POSITIONS 20A 690V
32 1221070 ORANGE INDICATOR LIGHT 230V
87 1720013 EXPANSION VALVE ¢ 1/8"M 12 bar

107 1444509 THREE-PHASE THERMOSTAT 169°C

123 1449218 HOSE FLEX g 3/8" Fc x Fc 2000 mm

137 1341751 LEVEL PROBE @ 1/4"M-150 mm

138 1523534 BOILER VALVE @ 1/4"M

139 1186232 COPPER FLAT GASKET @ 19x13.5x1.5 mm

142 1515005 BOILER VALVE @ 3/8"M - 1.8 bar CE/PED

175 1449218 HOSE FLEX g 3/8" Fc x Fc 2000 mm

198 5060072 GROUP GASKET g 52x46x3 mm

204 1349284 FITTING WITH FILTER ¢ 3/8"F-3/8"M




’gﬁ{? SANREMO

ZOE BODY AND ELECTRONIC SYSTEM

ZOE

SAR7201

Positions without LF code no.: upon request




SANREMO

Position LF code no. Description
15 1313102 FOOT 2 50 mm M10 H=55+69 mm
17 1527048 DRAIN TANK
18 3449466 HOSE CLAMP 16-27
26 1054057 DOSER CONTROL BOX 1-2-3 GROUPS 230V
127 5074250
130 1449672 DRAIN PIPE ELISPIR ¢ 16x23 mm - 5 m




Cpf

\1\ 16
o4 SANREMO
Suitable for: Suitable for:
Boiler safety valves

1523534 BOILERVALVE@ 1/4"M 1523537  BOILER VALVE ¢ 1/4"M
stainless steel - new model stainless steel - old model
internal PTFE coating - or viton orviton
for Coffee machine (SANREMO) AMALFI - CAPRI for Coffee machine (SANREMO) CAPRI - VENEZIA
MILANO LX - PISA - TORINO - TREVISO
TREVISO LX - VENEZIA - VERONA - ZOE

SANREMO 10652040 SANREMO 10652040A SANREMO 10652040

1515005 BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED 1523059  BOILER VALVE ¢ 3/8"M - 1.8 bar CE/PED
calibration pressure 1.8 bar calibration pressure 1.8 bar
steam outlet flow rate 49.82Kg/h steam outlet flowrate 87 Kg/h
viton seal viton seal
operating temperature -20/+200°C operating temperature -20/+200°C
CE/PED certified valve CE/PED certified valve
for Coffee machine (SANREMO) AMALFI - CAPRI - PISA for Coffee machine (SANREMO) MILANO LX - VENEZIA
ROMA - TORINO - TREVISO - TREVISO LX - VERONA
Z0E

SANREMO 10652012 SANREMO 106520128 SANREMO 10652010

Booster pumps
1330002 ROTARYVANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP

SANREMO 10252072A

clamp connection

flowrate 200 L/h

equipped with balanced bypass

NSF - WRAS approved

PA204

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VERONA - ZOE

SANREMO 10252072B

SANREMO




A
SANREMO %

Suitable for: Suitable for:

1330029 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FORFLANGE PUMP
clamp connection
flow rate 150 L/h
with balanced by-pass
fitting @ 3/8" NPT
N.S.F. approved

SANREMO 10252070 SANREMO 10252070A SANREMO 10252070C SANREMO

1330101 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP
flange connection
flowrate 100 L/h
with balanced by-pass
fitting @ 3/8" conical NPT
N.S.F. approved
PUMP VERSION ECO-BRASS
BRASS CW510L LEAD <=0.2%

SANREMO SANREMO

1330102 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1168011  STAINLESS STEEL CLAMP FOR FLANGE PUMP
flange connection
flowrate 200 L/h
with balanced by-pass
fitting @ 3/8" conical NPT
N.S.F. approved
PUMP VERSION ECO-BRASS
BRASS CW510L LEAD <=0.2%

SANREMO 10252072 SANREMO 10252072B SANREMO 10252072C SANREMO
Brushes
1384023 BRUSH FOR CLEANING 50 mm 1384001 BRUSH FOR COFFEE SHOWER

SANREMO SANREMO




/

N

)| ‘/‘P
’ SANREMO
Suitable for: Suitable for:
1384002 BRUSHFORMAINTENANCE 1384014 BRUSH FORSHOWER RED
SANREMO SANREMO

Capacitors, electrical

3068009 CAPACITORDUCATIENERGIA 6pF
450V 50/60Hz
operating temperature -25 + 85°C
lead connection 6.35x0.8 mm
@ 32xh55 mm

SANREMO 10252038

Caps
1439059 CAPg1/4"MNUT17mm H12 1439001 CAPo16 mm FORBREW GROUP
for Coffee machine (SANREMO) MILANO LX - PISA for Coffee machine (SANREMO) MILANO LX - TORINO
TORINO - VENEZIA - VERONA VERONA
SANREMO 10402163A SANREMO 10052137A
Clamps
3449466 HOSE CLAMP 16-27 1168011 STAINLESS STEEL CLAMP FOR FLANGE PUMP

for pipes @ 1627 mm

made of stainless steel AISI 304
height 12 mm and screw E7
suitable for food industry

SANREMO 10806099 SANREMO



SANREMO
Suitable or: Suitable for:
Coffee filters
1160600 ADAPTERFILTER FOREP CAPSULES 1160339  BLIND FILTER670x17 mm
to match with the machine-brand specific for Coffee machine (SANREMO) AMALFI - CAPRI
bottomless filter holder MILANO LX - PISA - TORINO - TREVISO
food-safe certification TREVISO LX - VENEZIA - VERONA - ZOE
for MODEL E61 GROUPS
for Coffee machine (SANREMO)
SANREMO SANREMO 10052220
1160252 FILTER2-CUP12¢g 1160282  FILTER 2-CUP 14 g- COST EFFECTIVE
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - TREVISO
TREVISO LX - VENEZIA - VERONA - ZOE
SANREMO 10052110 SANREMO
1160337 FILTER 2-CUP 14 g6 70x24,5 mm 5064969  FILTRO CAPSULE EP-FAP SUPEREMULSIONE

SANREMO

SANREMO

adattatore per capsule singola dose

completo di valvola interna a pressione

per rendere cremoso il prodotto in tazza

da abbinare al portafiltro senza fondo specifico

per la marca della macchina

adattabile per macchine BFC-BIANCHI-BRASILIA
BRUGNETTI AURORA-EXPOBAR-FAEMA-FIORENZATO CS
FUTURA-FUTURMAT-GRIMAC-ROYAL-SAB ITALIA-SANREMO
SCALA-VIBIEMME-WEGA

=

| —




o SANREMO

Suitable for: Suitable for:

1460100 PRECISION FILTER 1 CUP 6/8 g H24.5 1460101  PRECISION FILTER 1 CUP 7/9 g H26.5
round holes with conical section round holes with conical section
Aisi 304 stainless steel - food-safe certified Aisi 304 stainless steel - food safe certified
matching tamper ¢ 58 mm matching tamper ¢ 58 mm
for COFFEE MACHINES ASTORIA-CASADIO-CONTI-ELEKTRA for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
VICTORIA ARDUINO QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
for GROUPS E61 ASCASO-BEZZERA-BFC-BIANCHI VIBIEMME-WEGA
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA

SANREMO SANREMO

1460102 PRECISION FILTER 2 CUPS 12/18 g H24.5 1460103  PRECISION FILTER 2 CUPS 14/20 g H26.5
round holes with conical section round holes with conical section
Aisi 304 stainless steel - food safe certified Aisi 304 stainless steel - food safe certified
matching tamper ¢ 58 mm matching tamper ¢ 58 mm
for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA VIBIEMME-WEGA

SANREMO SANREMO

1460104 PRECISION FILTER 2 CUPS 18/22 g H28,5 1460113  PRECISION FILTER 2T 12/18 g H24

SANREMO

round holes with conical section

Aisi 304 stainless steel - food safe certified

matching tamper ¢ 58 mm

for GROUP E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-L'ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA

circular holes with conical section

Aisi 304 steel - food safe certified
matching tamper ¢ 58 mm

for SANREMO OPERA COFFEE MACHINES

SANREMO 10053040




SANREMO
Suitable for: Suitable for:
1460400 PRECISION FILTER 2T 12/18 g H24 1460401  PRECISION FILTER 2T 14/20 g H26
ultrafine model ultrafine model
circular holes with conical section circular holes with conical section
Aisi 304 steel - food-safe certified Aisi 304 steel - food-safe certified
¢ 58 mm suitable tamper ¢ 58 mm suitable tamper
for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VICTORIA ARDUINO VICTORIA ARDUINO
for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA VIBIEMME-WEGA
W gt @ a
SANREMO SANREMO
1460114 PRECISION FILTER 2T 16/20 g H26 1460402  PRECISION FILTER 2T 18/22 g H28
circular holes with conical section ultrafine model
Aisi 304 steel - food safe certified circular holes with conical section
matching tamper g 58 mm Aisi 304 steel - food-safe certified
for SANREMO OPERA COFFEE MACHINES ¢ 58 mm suitable tamper
for COFFEE MACHINES: ASTORIA-CASADIO-CONTI-ELEKTRA
FRACINO-KEESVANDERWESTEN-MAGISTER-MARZOCCO
N.SIMONELLI-PAVONI-PROMAC-RANCILIO-SLAYER-SYNESSO
VICTORIA ARDUINO
for GROUPS: E61 ASCASO-BEZZERA-BFC-BIANCHI
BRASILIA-DID-ECM-EXPOBAR-FAEMA-FIORENZATO-GRIMAC
IBERITAL-LANUOVAERA-LASCALA-ORCHESTRALE
QUALITYESPRESSO-ROCKET-ROYAL-SABITALIA-SANREMO-VFA
VIBIEMME-WEGA
SANREMO 10053042 SANREMO
1160251 1CUPFILTERG6 g 1160335 1CUPFILTER7 ¢

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TREVISO - TREVISO LX
VENEZIA - ZOE

SANREMO 10052100

SANREMO




/

N

)| ‘/‘P
4 SANREMO
Suitable for: Suitable for:
1160257 1-CUPFILTERG g 1160281  1-CUPFILTER 7 gr -BASIC QUALITY
for Coffee machine (SANREMO) TORINO - VERONA
SANREMO 10052076 SANREMO
Coffee groups
1439011 CHROMIUM-PLATED SIDE CAP 1027116  CHROMIUM-PLATED UPPER SLEEVE
for Coffee machine (SANREMO) MILANO LX - TORINO for Coffee machine (SANREMO) MILANO LX - TORINO
VERONA VERONA
SANREMO 10052132A SANREMO 10052133A
Coffee measuring spoons
1069001 PLASTIC MEASURING SPOON 20 ml 1069002  STAINLESS STEEL MEASURING SPOON 20 m|
SANREMO SANREMO
Detergents
3092543 COFFEE CLEAN DETERGENT 570 ¢ 3092355 DETERGENT CAPPUCCINO PERFECT 1L
detergent for COFFEE MACHINES to clean milk frothers
suitable for the cleaning of filter holders please see the attached documentation for use
for grease and coffee stains on sauser and cups
==
SANREMO SANREMO
3092351 DETERGENT COFFEE CLEAN 3092350 DETERGENT COFFEE CLEANTABLET2.5¢
package with 15 bags 20 g jar with 60 tablets 2.5 g
for coffee groups cleaning for coffee groups cleaning

-

N

4

SANREMO SANREMO




SANREMO
Suitable or: Suitable for:
3092143 DETERGENT COFFEE CLEAN900 g 3092353  SCALEREMOVER SCALE CLEAN
detergent for COFFEE MACHINES package with 12 bags 25 g
suitable for cleaning filters and filter holders for the cleaning of BABY coffee machines
for grease and coffee stains on cups and saucers please see the attached documentation for use
please see the attached documentation for use
SANREMO SANREMO
3092352 SCALEREMOVER SCALE CLEAN 1kg
acid descaler for aluminium surfaces
copper, brass, iron
SANREMO
Drain hoses
1449270 DRAIN PIPEELISPIR ¢ 12x18 mm -30m 1449670 DRAINPIPEELISPIRg 12x18 mm -5m
alimentary alimentary
\ \\
N
Q= ) N
\ N
SANREMO SANREMO
1449271 DRAINPIPEELISPIR ¢ 14x20mm -30m 1449671  DRAIN PIPEELISPIR ¢ 14x20 mm -5 m
alimentary alimentary
<N Pt
S
\\\\\x\\\\\\\\ SO \\\\\\\\\
~ \\i\\'\\»\}\ \ '\\\\\\\\\\\
® \\‘ ‘\?\,}6&‘
SANREMO SANREMO
1449272 DRAIN PIPEELISPIR ¢ 16x23 mm -30 m 1449672 DRAINPIPEELISPIR ¢ 16x23 mm -5m

alimentary

SANREMO 10852460

alimentary

SANREMO 10852460




v SANREMO

Suitable for: Suitable for:
1449273 DRAIN PIPEELISPIR 9 18x25mm -30m 1449673 DRAINPIPEELISPIR ¢ 18x25mm-5m
alimentary alimentary
Sl
N\
< SN
\\\ \\,\‘ \\\
WY AT )
\\\\\ r\\\\\\\\
SANREMO SANREMO
1449274 DRAIN PIPEELISPIR ¢ 20x27 mm -30m 1449674 DRAINPIPEELISPIR ¢ 20x27 mm -5 m
alimentary alimentary
N ‘\\y\‘\‘ \\\\\\\\
\ .\ N \ \
\\\\\??\\ L \ \H, \,\<\‘\ \\\\\\\\
SO N \\\
\h' W) ,\,\\\\ \\\
\-.}J\ «'}r\ \
SANREMO SANREMO
1449255 OUTLETHOSEELISPIR ¢ 25x33 mm 1449256  OUTLETHOSEELISPIR ¢ 30x38 mm
sold per meter sold per meter
\\\\\Y}W\)\)\)\ﬂ)ﬁm . \\\\\\\\)\}‘)‘)‘W)W)/
N Y s W\ SIS
K T
SANREMO SANREMO
Drain tanks
1527048 DRAIN TANK
for Coffee machine (SANREMO) AMALFI - CAPRI - PISA
TORINO - VERONA - ZOE
SANREMO 10022441 SANREMO 10022441A SANREMO 10022474
SANREMO 100224768
Electronic boxes
1054057 DOSERCONTROL BOX 1-2-3 GROUPS 230V 5038880 DOSING CONTROLBOX 2 GROUPS 230V
for Coffee machine (SANREMO) AMALFI - CAPRI for Coffee machine (SANREMO) CAPRI - FIRENZE
MILANO LX - TORINO - ZOE MILANO - MOTECARLO - VENEZIA

SANREMO 10112071A SANREMO 10112072A SANREMO 10112072B SANREMO 10112091D
SANREMO 10112072C SANREMO 10112072E SANREMO 10112072F



SANREMO %@

Suitable for: Suitable for:

Feet

1313102 FOOTg50mm M10 H=55+69 mm
for Coffee machine (SANREMO) CAPRI - PISA - VERONA

Z0E
SANREMO 10352065
Filter holder gaskets
1186722 FILTERHOLDER GASKET ¢ 73x57x8 mm 1186723  FILTER HOLDER GASKET ¢ 73x57x8.5 mm
for Coffee machine (SANREMO) AMALFI - CAPRI for Coffee machine (SANREMO) TREVISO - TREVISOLX
MILANO LX - PISA - TORINO - TREVISO
TREVISO LX - VERONA - ZOE
SANREMO 10502110 SANREMO 10502032
1486040 FILTER HOLDER GASKET ¢ 73x57x8.5 mm 1186724  FILTER HOLDER GASKET ¢ 73x57x9 mm

with internal grooves

produced with heat-resistant silicone,
soft consistency for en easier
installation on the group.

longer durability, better sealing and excellent
visibility thanks to its light colour.
suitable for groups type E61

suitable for machines AZKOYEN
suitable for machines BEZZERA
suitable for machines BIANCHI
suitable for machines EXPOBAR
suitable for machines FAEMA

suitable for machines SANREMO
suitable for machines VIBIEMME

SANREMO SANREMO
1786052 FILTERHOLDER GASKET ¢ 75x56x6 mm 1786051  GASKETFILTER HOLDER ¢ 73x57x8 mm
conical with 4 external splits
for Coffee machine (SANREMO) CAPRI - MONTECARLO
VENEZIA

SANREMO 10502010 SANREMO 10502038




)
( \E/‘

v

Suitable for:

SANREMO

Suitable for:

1486724

SANREMO

GASKETFILTERHOLDER ¢ 73x57x10 mm

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - TREVISO

TREVISO LX - VERONA - ZOE

O

Filter holders for coffee machines

1165162

SANREMO

BARLEY/COFFEEPODS FILTER HOLDER

wings 6.5 mm

"

1165193

SANREMO

BOTTOMLESS PORTAFILTER SANREMO/ECM M.

wings 6.4 mm

1165061

COFFEE MACHINE FILTER HOLDER

spout connection @ 3/8" - knob connection M12
wings 6,3 mm

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - VENEZIA

>
o

SANREMO 10052030

1165251

SANREMO

FILTER HOLDER CAPS.LAVAZZA DIFF.BRANDS

alette 6,2 mm
per capsule singole lavazza blue

1165134

SANREMO 10052034

FILTER HOLDER FOR SANREMO/SCALA COFFEE M

spouts connection @ 3/8" - handle connection M12
fins 6.3 mm

1165500

for Coffee machine (SANREMO) TORINO - VERONA - ZOE

>

SANREMO 14052034

SANREMO

FILTERHOLDER WITH THERMOMANOMETER
measures water temperature and outlet pressure
from the brew group

temperature scale 0-120°C/ 0-240°F

pressure scale 0-16 bar / 0-200 psi

with outlet ballvalve

fins 7.2 mm

for Coffee machine (SANREMO)




SANREMO

Suitable for: Suitable for:

5086956 PORTAFILTRO SENZA FONDO VARIMARCHI
alette 6,2 mm
adattabile per macchine BFC
adattabile per macchine ECM MANUFACTURE
adattabile per macchine EXPOBAR
adattabile per macchine PROMAC
adattabile per macchine RANCILIO
adattabile per macchine ROYAL
adattabile per macchine SANREMO
adattabile per macchine VIBIEMME

'

SANREMO

Filter locking springs

1250101 FILTER BLOCKING SPRING ¢ 1,00 mm INOX 1250338  FILTERLOCKING SPRING @ 1.40 mm ST.STEEL
;. N\

SANREMO SANREMO 10052050 SANREMO

1250002 S/STEELFILTER LOCKING SPRING @ 1.20 mm 1250333  SPRINGFILTERBLOCK ¢ 1.30 mm ST.STEEL

SANREMO SANREMO 10052050 SANREMO SANREMO 10052055
Filters
1160087 STAINLESS STEEL WATER FILTERg 15mm 1160517  WATERFILTER ¢ 8.5x22 mm
for Coffee machine (SANREMO) AMALFI - CAPRI - PISA for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E

SANREMO 10052139A SANREMO 10052136



\/
/’v SANREMO
Suitable for: Suitable for:
Fittings
1349227 "L"COUPLING ¢ 1/8"M- 6 mm 5055817  ELBOW FITTING ¢ 1/8"F - 5mm
for Coffee machine (SANREMO) AMALFI - CAPRI for group solenoid valve drain

for Coffee machine (SANREMO) AMALFI - CAPRI

MILANO LX - TORINO - VERONA - ZOE
MILANO LX - PISA - ZOE

-
SANREMO 10852030A SANREMO 10255028A
1349284 FITTINGWITHFILTER ¢ 3/8"F-3/8"M 3349330  NICHEL-PLATED FITTING ¢ 1/4"M-1/8"F
for Coffee machine (SANREMO) PORTOFINO - TORINO for Coffee machine (SANREMO) AMALFI - CAPRI - PISA
Z0E VERONA

SANREMO 10355150 SANREMO 10355150A SANREMO 10852901

3349329 NICHEL-PLATED FITTING ¢ 1/4"M-3/8"F
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - VENEZIA

SANREMO 10852672

Flowmeters
1455067 VOLUMETRICFLOW METER GICAR 1455068 VOLUMETRIC FLOW METER GICAR
connections @ 1/4"FF - orifice 1.15 mm - NSF connections @ 1/8"FF - orifice 1.15 mm - NSF
for Coffee machine (SANREMO) MILANO LX for Coffee machine (SANREMO) AMALFI - CAPRI - PISA
TORINO - VERONA - ZOE
SANREMO 10112134 SANREMO 10112290

SANREMO 10112131A SANREMO 10112280



Suitable for:

SANREMO %@

Suitable for:

Gaskets and seals

1186442 BLIND GASKET ¢ 12x5.8 mm SILICONE
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
ZOE

SANREMO 10505558

1186232  COPPERFLAT GASKET ¢ 19x13.5x1.5 mm

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - TREVISO
TREVISO LX - VENEZIA - VERONA - ZOE

SANREMO 10852180

1186620 COPPER FLAT GASKET ¢ 22x17x1.5 mm
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E

O

SANREMO 10505561

1186606  FLAT CARBO GASKET ¢ 57x43x3 mm

in universal carbo
for heating element

SANREMO

1186594 FLATPTFE GASKET ¢ 20x17x2 mm

for Coffee machine (SANREMO) AMALFI - CAPRI - PISA

VENEZIA - ZOE

C

SANREMO 10052143

1186404  PTFEFLAT GASKET ¢ 18x13x2mm
for Coffee machine (SANREMO) MILANO LX - PISA
TORINO - VENEZIA - VERONA

SANREMO 10505550A

1186314 PTFEFLAT GASKET ¢ 22x17x2 mm
for Coffee machine (SANREMO) MILANO LX - TORINO
VERONA

(

SANREMO 10502105A

1186328 PTFEFLAT GASKET ¢ 35x30x2 mm
for Coffee machine (SANREMO) MILANO LX - TORINO
VERONA

SANREMO 10502090A

1186623 PTFEFLAT GASKET ¢ 53x43x3 mm
for heating element
for Coffee machine (SANREMO) TREVISO - TREVISOLX

o )
|

SANREMO 10502018

1186179  PTFEFLAT GASKET ¢ 57x43x3 mm
for heating element
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
ZOE

SANREMO 10502020



/

SANREMO

v
Suitable for: Suitable for:
Gaskets for coffee group
1186508 COFFEE GROUP GASKET 77x73x2 mm 1186384 COFFEE GROUP GASKET 80x70x2 mm
PTFE paper
for Coffee machine (SANREMO) MILANO LX - TORINO
TREVISO - TREVISO LX - VERONA
- " 2
[ J \ My S g P~
| | < B
| e K/ =
| | e z |
SANREMO SANREMO 10502130

5060072 GROUP GASKET ¢ 52x46x3 mm

made of silicone
for Coffee machine (SANREMO) TORINO - ZOE

SANREMO 10503018

Handles for filterholder-portafilter
1241169  FILTERHOLDERHANDLE M12

1241502 FILTERHOLDERHANDLE M10

SANREMO

SANREMO
1241504  FILTERHOLDERHANDLE M12

1241501 FILTERHOLDER HANDLE M12
for Coffee machine (SANREMO) AMALFI - CAPRI

MILANO LX - VENEZIA

\
\

SANREMO

SANREMO 10052040
1241269 FILTERHOLDERKNOB M10 1141006  FILTERHOLDERKNOB M10 SOFT

SANREMO SANREMO




SANREMO
Suitable or: Suitable for:
1141007 FILTERHOLDERKNOB M124 SOFT 5051751  FILTERHOLDER KNOB WHITEM10
" [
SANREMO SANREMO
1141004 HANDLEFORFILTERHOLDER M10 WALNUTWOOD 5083515 HANDLEFORFILTERHOLDER M10 WALNUTWOOD
SANREMO SANREMO
1141003 HANDLEFORFILTERHOLDER M12 WALNUTWOOD 5055983 HANDLEFORFILTERHOLDER M12 WALNUTWOOD
SANREMO SANREMO
5054505 KNOBF.FILTERHOLDER M12 RED POLISHED 1241505 KNOBFILTER HOLDER M10
SANREMO SANREMO
5054506 RED FILTERHOLDERKNOB M10 POLISHED 5051102 WHITEFILTERHOLDERKNOB M12

SANREMO

\

SANREMO



o, SANREMO

Suitable for: Suitable for:

Heating elements

5056509 HEATING ELEMENT 1950W 230V 1186606 FLATCARBO GASKET ¢ 57x43x3 mm
immersed length 175 mm - 6 poles in universal carbo
with bulb sheath - connection ¢ 1"1/4 for heating element

for 1-group coffee machines
for Coffee machine (SANREMO) CAPRI - MILANO LX
VENEZIA - ZOE

SANREMO 10455050 SANREMO 10455050A SANREMO

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm
for heating element
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA

Z0E

SANREMO 10502020

5019887 HEATING ELEMENT 2400W 380V 1186606 FLATCARBO GASKET ¢ 57x43x3 mm
immersed length 1770 mm - 6 poles in universal carbo
with bulb sheath - connection ¢ 1"1/4 for heating element

for 1-group coffee machines
for Coffee machine (SANREMO) CAPRI - ZOE

SANREMO 10452010 SANREMO 10455060 SANREMO

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm
for heating element
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E

SANREMO 10502020



Suitable for:

SANREMO %@

Suitable for:

5021939

HEATING ELEMENT 2700W 380V 1186606  FLAT CARBO GASKET ¢ 57x43x3 mm
immersed length 325 mm - 6 poles in universal carbo

with bulb sheath - connection ¢ 1"1/4 for heating element

for 2-groups coffee machines

for Coffee machine (SANREMO) AMALFI - CAPRI

MILANO LX - PISA - TORINO - VENEZIA - VERONA

Z0E

SANREMO 10455052 SANREMO 10455052A SANREMO

1186179

PTFE FLAT GASKET ¢ 57x43x3 mm

for heating element

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
ZOE

SANREMO 10502020

1455065

HEATING ELEMENT 4500W 380V 1186606 FLAT CARBO GASKET ¢ 57x43x3 mm
immersed length 325 mm - 6 poles in universal carbo

with bulb sheath - connection ¢ 1"1/4 for heating element

for 2-groups coffee machines

for Coffee machine (SANREMO) AMALFI - CAPRI

MILANO LX - PISA - TORINO - VENEZIA - VERONA

Z0E

SANREMO 10455080 SANREMO 10455080A SANREMO

1186179 PTFE FLAT GASKET ¢ 57x43x3 mm

for heating element

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
ZOE

SANREMO 10502020



4 SANREMO
Suitable for: Suitable for:
1455066 HEATING ELEMENT 5100W 380V 1186606  FLAT CARBO GASKET ¢ 57x43x3 mm
immersed length 460 mm - 6 poles in universal carbo
with bulb sheath - connection ¢ 1"1/4 for heating element

for 3-groups coffee machines
for Coffee machine (SANREMO) MILANO LX - PISA
TORINO - VENEZIA - VERONA - ZOE

SANREMO 10455054 SANREMO

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm
for heating element
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E

SANREMO 10502020

Indicator lights

1221070 ORANGEINDICATORLIGHT 230V
head 8 7 mm - hole 8 6 mm - 120°C
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E

SANREMO 10553021

Injectors

1501541 NOZZLEM6x1HOLE¢ 0,8 mm
for brew group
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
ZOE

SANREMO 10052135



SANREMO %a
Suitable or: Suitable for:
Inlet hoses

1449218 HOSEFLEX 9 3/8"FcxFc2000 mm

EPDM hose covered with stainless steel

hose external @ 12 mm

max temperature 90°C

max pressure 10 bar
SANREMO 10852484 SANREMO 10852484A

Ironmongery (screws,nuts,washers)

5060610 HEXAGONALNUT MEDIUM M3 1184009  STAINLESS STEEL M8x25 mm STUD

stainless steel - UNI 5588 - DIN 934 - IS0 4032 for Coffee machine (SANREMO) MILANO LX - TORINO

TREVISO - TREVISO LX - VERONA
P

SANREMO 10806672 SANREMO 10052134
3389013 STAINLESS STEEL PIN g 2x12 mm 1528059  WASHERFLATLARGE M6

UNI 1336 - DIN 94 -1S0 1234 internal/external ¢ 6.4/18 mm - thickness 1.6 mm

for DISHWASHER AC in zinc plated iron alloy

for RIMINI ELE26 UNI 6593 - DIN 9021 - 1S0 7093

for Coffee machine (SANREMO) AMALFI - CAPRI

MILANO LX - PISA - TORINO - VERONA - ZOE

WL €
SANREMO 108063708 SANREMO 10402040
Knobs

1241186 STEAM INSERT FORKNOB 1241184  STEAM/WATERTAPKNOB

SANREMO 10351114

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - VENEZIA

SANREMO 10402074




N\ /A
..

v SANREMO
Suitable for: Suitable for:
1241185 WATERINSERT FORKNOB
for Coffee machine (SANREMO) AMALFI - CAPRI - PISA
SANREMO 10351115
Level gauges
1201057 FITTING ¢ 3/8"M HOLEg 11 mm 1520100 LEVEL GAUGE GLASS ¢ 11x140 mm
for level glass
for Coffee machine (SANREMO) MILANO LX - PISA
TORINO - VERONA

for Coffee machine (SANREMO) MILANO LX - PISA
TORINO - VENEZIA - VERONA

=
7
e =2
—

SANREMO 108055658

SANREMO 10402100
1201056 SPACERFORLEVEL GLASS

for Coffee machine (SANREMO) MILANO LX - PISA
TORINO - VENEZIA - VERONA

SANREMO 10042020A

Level regulators
1341301 LEVELADJUSTER NRL30/1E-2C/F 230V 5056960 LEVEL REGULATOR NRL30/1E-2C/F 115V
230V 50/60Hz 5A 115V 50/60Hz 1,5VA
for Coffee machine (SANREMO) CAPRI - VENEZIA

SANREMO 10112010

SANREMO 10112010A SANREMO 10112011
Level sensors
5058690 LEVELPROBE@ 1/4"M-120 mm 1341751 LEVEL PROBE ¢ 1/4"M-150 mm
for Coffee machine (SANREMO) CAPRI - TORINO for Coffee machine (SANREMO) AMALFI - CAPRI
VENEZIA - VERONA MILANO LX - PISA - TORINO - VERONA - ZOE
— T —
SANREMO 10112064

SANREMO 10112042



SANREMO %@
Suitable or: Suitable for:
Motors
1240702 MOTORRPM WITH CLAMP CONNECTION 165W 1240708 RPM MOTORWITHCLAMP CONNECT. 150W 230V

model 11002728

power supply 165W 230V 50/60Hz

capacitor 10 pf

for rotary vane pump

for Coffee machine (SANREMO) AMALFI - MILANO LX
PISA - TORINO - VENEZIA - VERONA - ZOE

SANREMO 10252086

model C010709

power 150W 230V 50/60Hz

capacitor 6 pf

for volumetric pump

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E

SANREMO 10252080A

Non-return and expansion valves

1720012 CHECK VALVE ¢ 1/4"M-1/8"M 1720014  EXPANSION VALVE ¢ 1/8"F-1/8"F

overall height 62 mm overall length 35 mm - 0.05 Bar

for Coffee machine (SANREMO) AMALFI - CAPRI for Coffee machine (SANREMO) TREVISO - TREVISOLX

MILANO LX - PISA - VENEZIA

=
|
=

SANREMO 10652020 SANREMO 10652020A SANREMO 106520208 SANREMO 10652027 SANREMO 10652027A
1720013 EXPANSION VALVE ¢ 1/8"M 12 bar 1720015  NON-RETURN VALVE ¢ 1/8"F-1/8"F

fitting  1/8"M - hose-end ¢ 7 mm

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TREVISO - TREVISO LX
VENEZIA - ZOE

SANREMO 10655555 SANREMO 10655557 SANREMO 10655557A

overall length 45 mm - 4.0 Bar

Z >
\®

348;’1 2

SANREMO 10652033A

Nozzles for coffee groups

GROUP SPRAY NOZZLE ¢ 30 mm M10x1

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - TREVISO

TREVISO LX - VERONA - ZOE

1501561

SANREMO 10052141



.y SANREMO

Suitable for: Suitable for:
O-Ring and ORM gaskets
1186854 O-RING EPDM R5 1786297 O-RINGR10EPDM
for Coffee machine (SANREMO) AMALFI - CAPRI for Coffee machine (SANREMO) AMALFI - MILANO LX
MILANO - MILANO LX - PISA - TORINO - VENEZIA PISA - TORINO - VERONA - ZOE
VERONA - ZOE

O

SANREMO 10505121 SANREMO 10402082

1186805 O-RINGO115EPDM 3186183  O0-RING 0128 EPDM
for Coffee machine (SANREMO) MILANO LX - TORINO
VERONA

SANREMO 10402063A SANREMO 10502100

1186087 0-RINGO0152EPDM 3243139  0-RING 02025 EPDM

for Coffee machine (SANREMO) AMALFI - TORINO

O

SANREMO 10503012 SANREMO 10502041A

1786208 O-RING 02062 GREEN VITON 1786202 O-RING 03037 VITON
for solenoid valve for Coffee machine (SANREMO) AMALFI - CAPRI
for Coffee machine (SANREMO) AMALFI - PISA MILANO LX - PISA - TREVISO - VENEZIA

TORINO - VERONA - ZOE

o

SANREMO 10402056A SANREMO 10502028

1186318 0-RING 03043 EPDM 3160044 O-RING 03187 EPDM
for Coffee machine (SANREMO) MILANO LX - PISA for Coffee machine (SANREMO) AMALFI - CAPRI - PISA
TORINO - VENEZIA - VERONA TREVISO - TREVISO LX - VENEZIA - ZOE

O

SANREMO 10705015 SANREMO 10502070 SANREMO 10502070A



SANREMO

Suitable for:

Suitable for:

Pins

1324066 WATER/STEAM TAPPIN
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
ZOE

SANREMO 10402061

Pipes for coffee machines

INJECTION PIPE ¢ 1/4"M
pipe 8 8 mm - length 110 mm
for Coffee machine (SANREMO) PORTOFINO

1449123

SANREMO 10853088

Pressure gauges

1245076 BOILER PRESSURE GAUGE ¢ 41 mm 0+2.5 bar 1245077

single scale 0+-2.5 bar - connection ¢ 1/8"M
frame 9 44 mm - body 9 41 mm
for Coffee machine (SANREMO) TORINO

SANREMO 10552040 SANREMO 105520408

SANREMO 10552042

PUMP PRESSURE GAUGE ¢ 41 mm 0+16 bar
single scale 016 bar - connection ¢ 1/8"M
frame 9 44 mm - body 9 41 mm

for Coffee machine (SANREMO) TORINO

SANREMO 10552042A SANREMO 105520428

SANREMO 10552042C

PUMP-BOILER PRESSURE GAUGE ¢ 60 mm 5056570
double scale 0+-3/0-+15 bar - connections ¢ 1/8"M
frame 80 mm - body 60 mm

for Coffee machine (SANREMO) AMALFI - CAPRI

5033187

SANREMO 10552021A SANREMO 10552021B

SANREMO 10552013A

PUMP-BOILER PRESSURE GAUGE ¢ 60 mm

double scale 0+3/0+15 bar - connections ¢ 1/8"M
frame 9 85 mm - body ¢ 60/63 mm

for Coffee machine (SANREMO) MILANO LX - VENEZIA

SANREMO 10552023A SANREMO 10552023B



Suitable for:

SANREMO

Suitable for:

Pressure switches

1320531 PRESSURE SWITCH P302/6 3-POLES 30A
CE-SEV-ASE-UL approved
ISO 228 G connection 1/4"M for pipe ¢ 4x6 mm
adjustable scale 0.5+1.4 bar
fixed differential 0.15 (£ 0.06) bar
fluid temperature max :140°C
max contact load : 220V 7KW (30A)
400V 12KW (30A)

for Coffee machine (SANREMO) AFF? - AMALFI - CAPRI

PISA - TORINO - VENEZIA - VERONA - ZOE

SANREMO 10602010 SANREMO 10602010A

5059572  PRESSURE SWITCH XP700C111P 1.8 BAR 1/4"
fittings 1/4" - hose-end fitting@ 7 / 4 mm
for Coffee machine (SANREMO) TREVISO LX

SANREMO 10602060A SANREMO 106020608

Rotary switches

1057037 SELECTORSWITCH 0-2 POSITIONS 20A 600V
pin 8x7 mm
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E

SANREMO 10122016 SANREMO 10122050

SANREMO 10122050A

SANREMO 10122036A

5034325 SELECTORSWITCH 0-2 POSITIONS 20A 690V
pin 8x7 mm
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO - MILANO LX - PISA - TORINO - VENEZIA
VERONA - ZOE

SANREMO 10122018 SANREMO 101220388

SANREMO 10122060

SANREMO 10122038A

Rubberpieces for steam-water taps

1187501 BURNPREVENTING PIPE HANDGRIP ¢ 8 mm
for Coffee machine (SANREMO) CAPRI - TREVISO
TREVISO LX - VENEZIA

T

SANREMO 10753050

5030025 BURNPREVENTING RUBBERP.F/PIPE@ 10 mm
for Coffee machine (SANREMO) AMALFI - MILANO LX
PISA - TORINO - VERONA - Z0E

SANREMO 10753052

1186080 STEAMPIPECLIPg10 mm
for Coffee machine (SANREMO) VERONA

SANREMO 10753056



Suitable for:

SANREMO

Suitable for:
Shower screens for brew group

1081600 PRECISION SHOWERNANOTEC@51,5mm 1081601  PRECISION SHOWERNANOTEC ¢ 60 mm
non-stick NANOQUARTZ coating non-stick NANOQUARTZ coating
increases the resistance to corrosion increases the resistance to corrosion
and to chemical reaction and to chemical reaction
central hole 5 mm - 98 holes # 3 mm 98 holes 3 mm
steel Aisi 301 - foodsafe certified steel Aisi 304 - foodsafe certified
integrated membrane 200 pm integrated membrane 200 pm

for E61 GROUPS

SANREMO SANREMO LF-1081401 SANREMO

1460200 PRECISION SHOWER SCREEN ¢ 51.5 mm 1460205 PRECISION SHOWER SCREEN ¢ 51.5 mm
central hole 5 mm - 98 holes # 3 mm central hole 5mm - 119 holes 8 2 mm
Aisi 301 stainless steel - food-safe certified Aisi 304 stainless steel - food-safe certified
integrated membrane 200 pM wire membrane 35 uyM
for Coffee machine (SANREMO) for Coffee machine (SANREMO)

SANREMO SANREMO

1460201 PRECISION SHOWER SCREEN ¢ 60 mm 1460206 PRECISION SHOWER SCREEN ¢ 60 mm
98 holes 8 3 mm 120 holes ¢ 2.5 mm
Aisi 304 stainless steel - food-safe certified Aisi 304 stainless steel - food-safe certified
integrated membrane 200 pM wire membrane 35 uyM
for GROUPS E61 for GROUPS E61
for Coffee machine (SANREMO) for Coffee machine (SANREMO)

SANREMO SANREMO

1081516 SHOWER 660 mm 1081006 SHOWERSCREEN¢51.5mm

SANREMO

for Coffee machine (SANREMO) VENEZIA

SANREMO 10052170




\ /
)
v SANREMO

Suitable for: Suitable for:

1081016 SHOWER SCREEN ¢ 60 mm 1081116  SHOWER SCREEN ¢ 60 mm
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - TREVISO
TREVISO LX - VERONA - ZOE

SANREMO SANREMO 10052120

1081216 SHOWER SCREEN ¢ 60 mm

SANREMO

Showerholder diffusers

1086595 SHOWERHOLDER DIFFUSER 1086049 SHOWERHOLDER SPRAYER
external @ 58.5 mm - height 7.5 mm - hole 6.5 mm external @ 57 mm - height 6.5 mm - hole 10 mm
for Coffee machine (SANREMO) VENEZIA for Coffee machine (SANREMO) AMALFI - CAPRI - PISA
Z0E

SANREMO 10052230 SANREMO 10052248 SANREMO 10052248A SANREMO 10052248B

Solenoid valves

3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz
width 34 mm - height 33 mm
length 43 mm

SANREMO




Suitable for:

SANREMO

Suitable for:

Solenoid valves

5019884 SOLEN.VALVEPARKER2WAYS 230V 50/60Hz 1120362 COILPARKER WB4.5 6W 220/230V 50/60Hz
175BV - max 15 bar length 22 mm - height 30,5 mm
VITON seal - orifice 2 2.0 mm length 32,5 mm
with coil WB4.5 6W 220/230V 50/60Hz
fluid temperature -40°C+140°C
for Coffee machine (SANREMO) MILANO LX - VENEZIA

SANREMO 10303080 SANREMO

5075049 SOLENOID VALVEPARKER 3 WAYS 110/120V 9W 1120466  2-WAY SOLENOID VALVE LUCIFER 115V 60Hz
3019F1GRG7 - outlet ¢ 1/8"F - max 14 bar 7121ZBG1LVOO - fittings @ 1/8"FF - max 10 bar
RUBY seal - orifice g 1.5 mm VITON seal - orifice 2.5 mm
with coil 48351055 XS03XS5F 9W 110/120V 50/60Hz with coil 483510S5 F 9W 110/115/120V 50/60Hz
STAINLESS STEEL-NSF solenoid valve body fluid temperature -10°C+140°C
fluid temperature -40°C+140°C

SANREMO 10305555 SANREMO 10305555A SANREMO 10303090

1120460 2-WAY SOLENOID VALVE LUCIFER 240V 50Hz 1120701  2-WAY SOLENOID VALVE PARKER 220/240V 9W
7121ZBG1LVOO - fittings @ 1/8"FF - max 10 bar 2019F1GRG7 - max 20 bar
VITON seal - orifice 2.5 mm RUBY seal - orifice 1.5 mm
with coil 483510 9W 220/240V 50/60Hz with coil 48351056 XS03XS6F 9W 220/240V 50/60Hz
fluid temperature -40°C+140°C STAINLESS STEEL - NSF solenoid valve body

fluids temperature -40°C+140°C
wr

SANREMO 10302020 SANREMO 10303086 SANREMO 10303088 SANREMO 10302100 SANREMO 10303093A

SANREMO 10303108

1120339 3-WAY MECHANICALCOMPONENT PARKER 1120101  3-WAY SOLENOID VALVE PARKER 115V 50/60Hz

VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice ¢ 1.3 mm
fluid temperature -30°C+140°C

SANREMO

SANREMO

VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.3 mm

with coil ZB09 9W 110/120V 50/60Hz
fluid temperature -40°C+140°C




’ SANREMO
Suitable for: Suitable for:
1120335 3-WAY SOLENOID VALVE PARKER 230V 50/60Hz 3120032 COIL PARKER ZB09 9W 220/240V 50/60Hz

VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice ¢ 1.3 mm

with coil ZB09 9W 220/230V 50/60Hz

fluid temperature -30°C+140°C

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E

SANREMO 10302066

1120339 3-WAY MECHANICAL COMPONENT PARKER
VE128IR - drain @ 1/8" conical - max 10 bar
RUBY seal - orifice g 1.3 mm
fluid temperature -30°C+140°C

SANREMO

width 34 mm - height 33 mm
length 43 mm

SANREMO

Spouts for coffee

1022522 ADJUSTABLE LONG DOUBLE SPOUT 9 3/8" 1022523  ADJUSTABLE SHORT DOUBLE SPOUT ¢ 3/8"
A
&
e
SANREMO SANREMO
1022504 CLOSED SINGLE SPOUT ¢ 3/8" 1022502 DOUBLESPOUT ¢ 3/8"
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - VENEZIA
SANREMO SANREMO 10052090
1022524 DOUBLE SPOUT g 3/8" 1022521  LONG DOUBLE SPOUT 0 3/8"

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - VENEZIA

SANREMO 10052088

SANREMO




SANREMO
Suitable or: Suitable for:
1022501 SINGLESPOUT ¢ 3/8" 1022550  SINGLESPOUT ¢ 3/8"
for Coffee machine (SANREMO) AMALFI - CAPRI for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - TREVISO - TREVISO LX - VENEZIA MILANO LX - VENEZIA
SANREMO 10052080 SANREMO 10052078
1022503 STRAIGHT SINGLE SPOUT ¢ 3/8" 1022551  TRIPLESPOUT ¢ 3/8"
e < 1@6 v
X 1 N
LN
i ,,""
-~ U {W
SANREMO SANREMO
5031337 1-CUPSTRAIGHT SHORT SPOUT ¢ 3/8"
oS
SANREMO
Springs
1250019 SPRING ¢ 12x16.5 mm 1250415 TAP SPRING ¢ 10x32 mm

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA

WM

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E

WA

SANREMO 10402014

Steam taps and spares for coffee mach.

5060158 NUT ¢ 3/8"F FORWATER STEAM PIPE

SANREMO 10402043
nut 22 mm - height 21 mm - hole 13 mm
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA

;\m"

@
o _af o
SANREMO 104020228

SANREMO 14402052 SANREMO 14402052A

1186244  SPRING BUSHING

for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO - MILANO LX - PISA - TORINO - VENEZIA
VERONA - ZOE

-
- -
e —
-

N

SANREMO 10402015




v SANREMO

Suitable for: Suitable for:

5063557 STEAM TAP COMPLETE 1186988 STEAM TAP JOINTBUSHING
for Coffee machine (SANREMO) CAPRI - VENEZIA external  12/8.5 mm - internal 8 7 mm
thickness 6/3 mm
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA

Z0E
j 11
e —"

SANREMO 10402230 SANREMO 10402230A SANREMO 10402054 SANREMO 10402054A SANREMO 13402054A
5026362 TAP WATER/STEAM 1548043  WATERTAP COMPLETE

for Coffee machine (SANREMO) AMALFI - CAPRI for Coffee machine (SANREMO) CAPRI - FIRENZE

MILANO - MILANO LX - PISA - TORINO - VENEZIA PISA - PORTOFINO - VENEZIA

VERONA - ZOE

Ve

SANREMO 10402051 SANREMO 10402120A SANREMO 10402010

1348056 WATER/STEAM TAP
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO - MILANO LX - PISA - TORINO - VENEZIA
VERONA - ZOE

Y

SANREMO 104021208

Steam-water pipes coffee machines

1549042 COMPLETE CHROME-PLATED WATER PIPE 1549043  COMPLETE STAIN.STEEL STEAMPIPE@ 10 mm
length 108 mm pipe length 245 mm
for Coffee machine (SANREMO) AMALFI - CAPRI - PISA for Coffee machine (SANREMO) AMALFI - CAPRI
VENEZIA

"~

SANREMO 10402145 SANREMO 10402260 SANREMO 10402260A SANREMO 10422136A
SANREMO 14402260A




SANREMO %@

Suitable for: Suitable for:

1549044 COMPLETE STAIN.STEEL STEAMPIPEg 10 mm 1449332 WATERPIPENOZZLE
pipe length 280 mm for Coffee machine (SANREMO) AMALFI - CAPRI
for Coffee machine (SANREMO) MILANO LX - VERONA MILANO LX - PISA - TORINO - TREVISO

TREVISO LX - VENEZIA - VERONA - ZOE

SANREMO 10402286B SANREMO 10402286D SANREMO 14402286 SANREMO 10402140
SANREMO 14402286A
Switches
5036032 BLACKBIPOLARSWITCH 16A 250V 5032976  ELECTRONIC CIRCUIT BOARD 6-BUTTONS PANEL
with switch cover dimensions 122x35 mm
"coffee cup" silk-screen printing for Coffee machine (SANREMO) MILANO LX

max temperature 120°C

mounting hole 22x30 mm

for Coffee machine (SANREMO) CAPRI - MILANO LX
PISA - VENEZIA

SANREMO 10555060 SANREMO 10555060A SANREMO 10555060C SANREMO 101120878

1319631 LEVERBIPOLARSWITCH 15A 250V 5074250 PULSANTIERA 6 TASTI
for Coffee machine (SANREMO) TREVISO - TREVISOLX

SANREMO 10553060 SANREMO 10112268 SANREMO 10112268C SANREMO 10112268D
1319629 PUSH-BUTTON PANEL 5 BUTTONS 5031483 PUSH-BUTTON PANEL 5 BUTTONS
for Coffee machine (SANREMO) AMALFI for Coffee machine (SANREMO) CAPRI

SANREMO 10112122 SANREMO 10112066A



s, SANREMO

Suitable for: Suitable for:

Telethermometers

1441001 TELETHERMOMETER BLACK ¢ 52 mm 0-80°C
metal sheath
capillary length 800 mm
bulb @ 6x22 mm
for Coffee machine (SANREMO) TORINO

SANREMO 10552046 SANREMO 10552046A
Thermostats
1444509 THREE-PHASE THERMOSTAT 169°C 1444004 THREE-PHASE THERMOSTAT 187°C
with manual reset manual reset
covered capillary 900 mm covered capillary 830 mm
bulb ¢ 4x128 mm bulb ¢ 4x124 mm
for Coffee machine (SANREMO) AMALFI - CAPRI
MILANO LX - PISA - TORINO - VENEZIA - VERONA
Z0E
- s . ————
SANREMO 10111015 SANREMO 10111012
Tools
1505002 EXTRACTORFORFILTER S.STEEL WITH HOLE 3394906 TELESCOPICKIT ¢ 30x165 mm
extension overall length 485 mm
SANREMO SANREMO
Water softeners and accessories
3010001 MANUAL WATER SOFTENERS L ¢ 3/8" 3010161 MANUALWATER SOFTENERS8L ¢ 3/8"
for water treatment for TECHNICAL purposes for water treatment for TECHNICAL purposes
STAINLESS STEEL cylinder capacity 8 L plasma welding
connection 3/8" STAINLESS STEEL cylinder capacity 8 L
dimensions: height 400 mm - ¢ 185 mm connection 3/8"
resin content 5.8 L dimensions: height 400 mm - @ 185 mm
regeneration salt(NaCl-table salt)1 Kg resin content 5.8 L

regeneration salt(NaCl-table salt)1 Kg
inlet water maximum temperature 60°C

=

Sl

W
hot
o

SANREMO SANREMO




SANREMO
Suitable or: Suitable for:
3010112 RESINSL 3010299  SALEPERADDOLCITOREIN PASTIGLIE 10 Kg
5 litre bag PER IMPIANTI DI ADDOLCIMENTO ACQUA

SANREMO

SANREMO

3010300

SANREMO

SALT FORWATER SOFTNER IN TABLETS 25 Kg
FOR WATER SOFTENING SYSTEMS







	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

